Similarity, Dilations, Triangle Proportionality

Review 2B
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Find the missing length. The triangles in each pair are similar.

1) AFGH ~AJKL

2) AEFG ~ AUVW
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5) A scale drawing of a room is 5.3 inches
wide by 12.5 inches long. What is the
width of the room if the actual length is 35

feet?
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Find the missing length indlcated.
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6) Carl has an old tree in his yard that he is
worried may fall in a storm and possibly
hit his-house-40:feet-away. He needs to
know how tall the tree is. Carl's dog is 3
feet tall, it's shadow is 2.1 feet long, and +
the tree's shadow is 25 feet long. If the
tree falls, could it hit his house?

10)

42 = S,

™~ .
>\ _{, v S



Solve 10r X.
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State if the triangles in each pair are similar. If so, state how you know they are similar and
complete the similarity statement. (SSS, SAS, AA, or not similar)
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15. Figure A’B’C’D’F’ is a dilation of figure ABCDF by a scale factor of —;— . The dilation is centered at (-4, -1).
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What point is the center of dilation?

/7

( "0

17. In the triangle shown, G_H“BF

What is the length of GE?




18. The figure below shows two similar trj'@n\glis. What is the length of EF?

S ¢

! /;) //
& e
-
,/‘} /
C .32‘5 - P 1 ",//!‘./ . / () %,(,7)

19. In the figure below, AC =2AD . Which is enough to prove AADE ~ AACB ?

20. AABC is similar but not congruent to ADEF . True or False
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AABC was dilated by a scale factor between 0 and 1
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21. Right triangle ABC is shown below. AABC s Al)E']:'
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What is the ratio of side BC to side AC? 3‘/' }
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22. Triangle SRT is an isosceles triangle. ASRT ~ AWXY .
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23. Quadrilateral ABCD has been dilated to its image A’B’C’D’. Which is the correct scale factor and center of dilation?




24. Line segment AN has been dilated to the image CB. Which is the correct.scalefactorgrid center of dilation?
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What is the scale factor if CB is dilated to-AN? |

How did it change from the question above?

25. Inright triangle ADG below, BE , CF : aﬁd D_G: are barallél. Ez 12,D_an 36, aﬁdjﬁ =BC =CD.
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A. What is the length of AD 2 il i
B. Complete the similarity statement: aABE ~ [\/(F— ~ NADG oo
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